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1. In Gram's staining method, the primary stain is

(a) Crystal violet

(b) Phenolphthalein

(c) Bromocresol green

(d) Methyl blue

2. Bootstrapping is generally referred for

(a)  A language that compile itself.

(b) A language used to interpret other language

(c) A language used to compile other lanuage

(d) All of these

3. Problem of solid waste disposal can be

reduced by

(a) Recycling

(b) Use of plastic

(c) Dumping of waste in rivers

(d) None of these

4. In some  enzyme a non-protein substance is

required to catalyse a reaction. These non-protein

part is generally referred as

(a) Protease (b) Cofactor

(c) Coenzyme (d) Reducing ions

5. Which of the following is a major cause of

wildlife extinction?

(a) Hunting

(b) Poaching

(c) Habitat loss

(d) Wildlife trade

1. xzke LVsfuax fof/k esa izkFkfed jax gS

(a) fØLVy ok;ysV

(b) fQukY¶Fksfyu

(c) czkseksfØlksy xzhu

(d) feFkkby Cyw

Ans. (a)

2. cwVLVsªfiax lkekU; :i ls O;ä djrk gS______

(a) ,d Hkk"kk tks Lo;a dks daikby djrh gksA

(b) ,d Hkk"kk tsk nwljh Hkk"kk dks le>us ds fy,

mi;ksx dh tk,A

(c) ,d Hkk"kk tks nwljh Hkk"kk dks daikby djus ds

fy, mi;ksx dh tk,

(d) bueaas ls lHkh

Ans. (a)

3. Bksl vif'k"V fuiVku dh leL;k dks dSls de

fd;k tk dlrk gS\

(a) fjlkbdfyax ls

(b) IykfLVd ds iz;ksx ls

(c) Bksl vif'k"V dks leqnz esa Qsadus ls

(d) buesa ls dksbZ ugha

Ans. (a)

4. dqN ,Utkbe esa ukWu&izksVhu inkFkZ mlds dk;Z'kSyh

ds fy, vko';d gksrk gS ftUgsa ge fuEufyf[kr esa

ls fdl uke ls tkurs gS\

(a) izk sfV;st+ (b) dks&QsDVj

(c) dks&,Utkbe (d) fjM;qflax vk;Ul

Ans. (b)

5. fuEufyf[kr esa ls dkSu oU;thoksa ds foyqIr gksus dk

eq[; dkj.k gS\

(a) f'kdkj

(b) voS/k f'kdkj

(c) izkd̀frd okl dk lekIr gksuk

(d) oU;thoksa dk O;kikj

Ans. (c)
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6. Water pollution is not caused by ______

(a) Flood

(b) Sewage

(c) Agriculture

(d) Desalination

7. The process of galvanization is coating of iron

sheet with

(a) Zinc (b) Tin

(c) Copper (d) All of these

8. Which is a protected area for biodiversity

conservation?

(a) City garden (b) Zoological park

(c) Tiger Reserve (d) Agriculture field

9. Sustainable development refers to ______

(a) Development without compromising the

future needs of development

(b) High growth of industry

(c) Only agricultural development

(d) None of these

10. The theory of inheritance of acquired character

was proposed by

(a) De vries (b) Darwin

(c) Mandel (d) Lamarck

11.  The normal valency of nitrogen is

(a) Two (b) Three

(c) Five (d) Seven

6. buesa ls dkSu lk ty iznw"k.k dk dkj.k ugha gS\

(a) ck<+

(b) vif'k"V ty

(c) d̀f"k

(d) fMlSfyus'ku/v-yo.khdj.k

Ans. (d)

7. xSYosukbt+s'ku dh izfØ;k esa yksgs dh dksfVax ds fy,

mi;ksxh gS

(a) tLrk (b) fVu

(c) rkack (d) buesa ls lHkh

Ans. (a)

8. fuEufyf[kr esa ls dkSu ,d tSofofo/krk lajf[Kr

{ks= gS\

(a) 'kgj ds ckx (b) fpfM+;k?kj

(c) ck?k lajf{kr {ks= (d) [ksr

Ans. (c)

9. lrr fodkl fdlls lEcfU/kr gS\

(a) fodkl fcuk Hkfo"; ds fodkl dks izHkkfor

fd;s

(b) m|ksxksa dk vf/kd fodkl

(c) dsoy d̀f"k fodkl

(d) buesa ls dksbZ ugha

Ans. (a)

10. bUgsfjVsUl vkWQ ,dkbMZ dSjsDVj dk fl)kar fdlus

fn;k \

(a) fM ozht (b) MkfoZu

(c) eSUMy (d) ySekdZ

Ans. (d)

11. ukbVªkstu dh lkekU; la;kstdrk gksrh gS

(a) nks (b) rhu

(c) ik¡p (d) lkr

Ans. (b)
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12.  Albert Einstein was awarded Nobel prize for

his path breaking research on____

(a) Theory of critical opalescence

(b)  Theory of relativity

(c) Law of photoelectric effect

(d) Wave-particle theory

13. Taj Mahal is mostly getting affected by

__________

(a) Soil pollution (b) Water pollution

(c) Air pollution (d) Noise pollution

14. Main causes of water pollution are _____

(a) Sewage (b) Agriculture

(c) Industry (d) All of these

15. Cortex region found in between

(a) Epidermis and endodermis

(b) Pericycle and endodermis

(c) Endodermis and vascular bundle

(d) Epidermis and vascular bundle

16. Which is a green house gas?

(a) Carbon dioxide

(b) Methane

(c) Water vapour

(d) All of these

17. Climate change can affect_____

(a) Agriculture (b) Human health

(c) Rainfall (d) All of these

12. vYcVZ vkbLVhu dks fdl vlkekU; dk;Z ds fy,

ukscsy bZuke feyk\

(a) xaHkhj vksisyslsal dk fl)kUr

(b) lkis{krk(Relativity)dk fl)kUr

(c) QksVks-bysfDVªd izHkko dk fu;e

(d) rajx-d.k dk fl)kUr

Ans. (c)

13. rktegy dks lcls vf/kd uqdlku fdlls gks jgk

gS\

(a) ènk iznw"k.k (b) ty iznw"k.k

(c) ok;q iznw"k.k (d) /ofu iznw"k.k

Ans. (c)

14. ty iznw"k.k ds eq[; dkj.k dkSu gS\

(a) vif'k"V ty (b) d̀f"k

(c) m|ksx (d) ;s lHkh

Ans. (d)

15. dksVZsDl {ks= buesa ls fdlds chp ik;k tkrk gS\

(a) ,ihMfeZl ,oa ,UMksMfeZl

(b) isjhlkbdy ,oa ,UMksMfeZl

(c) ,UMksMfeZl ,oa oSLdqyj caMy

(d) ,fiMfeZl ,oa oSLdqyj caMy

Ans. (d)

16. fuEufyf[kr esa dkSu ^xzhu gkml^ xSl gS\

(a) dkcZu MkbZvkWDlkbM

(b) ehFksu

(c) tyok"i

(d) ;s lHkh

Ans. (d)

17. ^DykbesV psat^ fdldksa izHkkfor dj ldrk gS\

(a) d̀f"k (b) euq"; dk LokLF;

(c) cjlkr (d) bu lHkh

Ans. (d)
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18. Which are the major  causes of climate

change?

(a) Deforestation (b) Burning of fossil fuel

(c) Industries (d) All of these

19. The Indian Independence Act was passed by

British Parliament in

(a) March, 1946 (b) July, 1946

(c) June, 1947 (d) July, 1947

20. Which vitamin among the following is produced

in skin in sunlight?

(a) Vitamin D (b) Vitamin C

(c) Vitamin A (d) Vitamin B

21. Which one pair is not correct?

(a) Dr. B.R. Ambedkar– Mook nayak

(b) Mahatma Gandhi – Young India

(c) Gopal Krishna Gokhale – Bombay Chronicle

(d) Devendranath tagore– India minor

22. Which organisation has released Energy

Transmission Index 2019?

(a) World Bank

(b) World Economic Forum

(c) IMF

(d) None of these

23. How Aliyar, Isapur and Kangsabati are similar?

(a) Uranium deposits (b) Tropical rain forests

(c) Water reservoirs (d) None of these

24. One petabyte is equal to-

(a) 10 Terabyte (b) 100 Terabyte

(c) 1000 Terabyte (d) None of these

18. fuEufyf[kr esa ls tyok;q ifjorZu ds dkSu eq[;

dkj.k gS\

(a) ouksa dk dVuk (b) thok'e bZa/ku dk tyuk

(c) m|ksx (d) ;s lHkh

Ans. (d)
19. fczfV'k laln }kjk Hkkjrh; Lora=rk vf/kfu;e ikfjr

gqvk

(a) ekpZ] 1946 esa (b) tqykbZ] 1946 esa

(c) tqu] 1947 esa (d) tqykbZ] 1947 esa

Ans. (d)
20. fuEu esa ls dkSu lk foVkfeu lw;Z ds izdk'k esa Ropk

esa curk gS\

(a) foVkfeu Mh (b) foVkfeu lh

(c) foVkfeu , (d) foVkfeu ch

Ans. (a)
21. fuEu esa ls dkSu lk tksM+k lgh ugha gS\

(a) MkW- ch- vkj- vkEcsMdj- ewd uk;d

(b) egkRek xka/kh  – ;ax bafM;k

(c) xksiky d̀".k xks[kys  – ckWEcs ØkWfudy

(d) nsosaUnzukFk VSxksj – bafM;u fejj

Ans. (c)

22. fdl laLFkk usa ,uthZ Vªk¡lfe'ku baMsDl 2019 tkjh

fd;k gS\

(a) fo'o cSad

(b) fo'o vkfFkZd Qksje

(c) vkbZ ,e ,Q

(d) buesa ls dksbZ ugha

Ans. (b)
23. vfy;kj] blkiqj vkSj daXlkcrh fdl izdkj

leku gS\

(a) ;wjsfu;e HkaMkj (b) Å".kdfVca/kh; o"kkZou

(c) ty HkaMkj (d) buesa ls dksbZ ugha

Ans. (c)
24. ,d isVkckbV cjkcj gS

(a) 10 VsjkckbV (b) 100 VsjkckbV

(c) 1000 VsjkckbV (d) beusa ls dksbZ ugha

Ans. (c)
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25. Which one of the following pair is not correct

(a) First Battle of Panipat – 1526

(b) Battle of Khanwa – 1527

(c) Battle of Plassey – 1758

(d) Battle of Chittorgarh – 1567

26. Who is the recipient of 66th Dada Saheb Phalke

Award 2018?

(a) Girish Karnad

(b) Amitabh Bachchan

(c) Raj Babbar

(d) None of these

27. Which Indian sport professional has been listed

in Time 100 Next list?

(a) Dutti Chand (b) Hima Das

(c) P.V. Sindhu (d) Neeraj Chopra

28. Alha is a popular music of which region?

(a) Bundelkhand (b) Nimar

(c) Malwa (d) None of these

29. Oldest of the Vedas is

(a) Samveda (b) Yajurveda

(c) Rigveda (d) Atharvaveda

30. Who founded Ajivika sect?

(a) Mahatma Buddha

(b) Kapil

(c) Makkhali Gosala

(d) Badrayan

25. fuEu esa ls dkSu lk tksM+k lqesfyr ugha gS\

(a) ikuhir dk izFke ;q) 1526

(b) [kkuok dk ;q) 1527

(c) Iyklh dk ;q) 1758

(d) fpÙkkSM+x<+ dk ;q) 1567

Ans. (c)

26. 66 osa nknk lkgc QkYds iqjLdkj 2018 ds izkIrdrkZ

dkSu gS \

(a) fxjh'k dukZM

(b) vferkHk cPpu

(c) jkt cCcj

(d) buesa ls dksbZ ugha

Ans. (b)

27. fdl Hkkjrh; f[kykM+h dks Vkbe 100 usDLV lwph

esa 'kkfey fd;k x;k gS\

(a) nwRrh pan (b) fgek nkl

(c) ih- oh- fla/kq (d) uhjt pksiM+k

Ans. (a)

28. vkYgk fdl {ks= dk yksdfiz; laxhr gS\

(a) cqansy[kaM dk (b) fuekM+ dk

(c) ekyok dk (d) buesa ls dksbZ ugha

Ans. (a)

29. lcls izkphu osn gS

(a) lkeosn (b) ;tqqosZn

(c) _Xosn (d) vFkoZosn

Ans. (c)

30. vkthod lEiznk; ds laLFkkid dkSu Fks\

(a) egkRek cq)

(b) dfiy

(c) eD[kfYy xks'kky

(d) cnzk;u

Ans. (c)
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31. Qutbuddin Aibak was a Turkish

(a) Nobleman (b) Merchant

(c) Writer (d) Slave

32. Turkish nobility 'turkan-i Chahalgani' was created

by

(a) Qutbuddin Aibak (b) Iltutmish

(c) Razia (d) Balban

33. Mahatma Buddha gave his first sermon at:

(a) Bodh Gaya (b) Kapilvastu

(c) Pataliputra (d) Sarnath

34. The author of Shah Nama was _______

(a) Al-Biruni

(b) Faizi

(c) Firdausi

(d) Malik Mohammad Jaisi

35. Jambudvipa in 14th century Java's text was

referred to

(a) India (b) Indonesia

(c) China (d) Sri Lanka

36. Which of the following statement about

Aurangzeb is correct?

(a) He forbade the Kalma being inscribed on

coins

(b) Discontinued the festival of Navroz

(c) Appointed Muhtasib

(d) All of these

31. dqrcqíhu ,scd ,d rqdZ ---------- FkkA

(a) dqyhu O;fDr (b) O;kikjh

(c) ys[kd (d) xqyke

Ans. (d)

32. rqdhZ dqyhu oxZ ^rqdkZu&, pgyxkuh* fdlus cuk;k

Fkk\

(a) dqrcqíhu ,scd (b) bYrqrfe'k

(c) jft;k (d) cycu

Ans. (b)

33. egkRek cq) us viuk igyk mins'k fn;k Fkk%

(a) cks/k x;k esa (b) dfiyoLrq esa

(c) ikVfyiq= esa (d) lkjukFk esa

Ans. (d)

34. 'kkgukek dk ys[kd dkSu Fkk\

(a) vyfc:uh

(b) QSt+h

(c) fQjnkSlh

(d) efyd eksgEen tk;lh

Ans. (c)

35. 14oha 'krkCnh esa tkok dh iqLrdksa esa tEcq}hi fdl

ns'k dks dgk x;k gS\

(a) Hkkjr (b) bUMksusf'k;k

(c) phu (d) Jhyadk

Ans. (a)

36. fuEufyf[kr eaas dkSu&lk dFku vkSjaxtsc ds ckjs esa

lR; gS\

(a) mlus flDdksa ij dyek fy[kokuk can dj fn;k

(b) uojkst dk R;kSgkj eukuk lekIr dj fn;k

(c) eqgrflc fu;qDr fd;k

(d) ;s lHkh

Ans. (d)
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37. The Chishti order was established in India by

(a) Sheikh Moinuddin

(b) Bakhtiyar Kaki

(c) Sheikh Fariduddin

(d) Nasiruddin Chirag

38. Who had started 'Khaki Dress' for British Indian

Soldiers?

(a) Sir Lawrence

(b) William Hunter

(c) Lord Barley

(d) Sir Harry Barnet Lamsden

39. The book 'Loyal Mohammadan of India' is a

poineer work of

(a) Syed Mahmood

(b) Sir Syed Ahmad Khan

(c) Mohsin-ul-Mulk

(d) Viqar-ul-Mulk

40. Annie Besant translated Gita into English under

the title of

(a) New India (b) Common Weal

(c) Sirr-e Akbar (d) Lotus Song

41. Who wrote Futahat i-Firozshahi?

(a) Barani

(b) Isami

(c) Firozshah Tughlaq

(d) Afif

37. Hkkjr esa fp'rh flyflyk fdlus izkjEHk fd;k\

(a) 'ks[k eksbuqíhu

(b) cf[r;kj dkdh

(c) 'ks[k Qjhnqíhu

(d) ulh:íhu fpjkx+

Ans. (a)

38. fczfV'k Hkkjrh; lSfudksa ds fy, ^̂ [kkdh onhZ* dh

'kq:vkr fdlus dh Fkh\

(a) lj ykWjsal

(b) fofy;e g.Vj

(c) ykWMZ ckysZ

(d) lj gSjh cusZV yELMsu

Ans. (d)

39. ^ykW;y eksgEeMu vkWQ bafM;k^ uked fdrkc fdldh

jpuk Fkh

(a) lS;n egewn

(b) lj lS;n vgen [kk¡

(c) eksgflu&my&eqYd

(d) fodkj&my&eqYd

Ans. (b)

40. ,suh cslsUV us xhrk dk vuqokn vaxzsth Hkk"kk esa fdl

'kh"kZd ls fd;k Fkk\

(a) U;w bafM;k (b) dkSeu ohy

(c) fljs vdcj (d) yksVl lkWUx

Ans. (d)

41. ^Qqrqgr&,&fQ+jkst+'kkgh* ds ys[kd dkSu Fks\

(a) cjuh

(b) blkeh

(c) fQ+jkst'kkg rqxyd

(d) vQhQ

Ans. (d)
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42. Who is popular as Frontier Gandhi in Indian

History?

(a) Mahatma Gandhi

(b) Raj Mohan Gandhi

(c) Mazharul Haque

(d) Khan Abdul Gaffar Khan

43. Digambara and Shvetambara were major sects

of which religion?

(a) Buddhism

(b) Brahmanical Religon

(c) Jainism

(d) Hindu Religion

44. Who represented Indian National Congress in

the Brussels Congress of 1927?

(a) Gandhiji (b) J.L. Nehru

(c) Subhash C. Bose(d) Acharya Kripalani

45. Who formed the All India Kisan Sabha in 1936?

(a) Kumaranand (b) Sahajanand Saraswati

(c) S.A. Dange (d) Mahendra Singh Tikat

46. Sher Shah's currency, "Dam", was made of

which metal?

(a) Silver (b) Gold

(c) Copper (d) None of these

47. In 1913 Lala Hardayal founded the Ghadar Party

in

(a) New York (b) Tokyo

(c) San Francisco (d) Kabul

42. Hkkjr ds bfrgkl esa ^lhekar xka/kh* ds uke ls dkSu

izfl) gS\

(a) egkRek xka/kh

(b) jkteksgu xka/kh

(c) etg:y gd

(d) [kku vCnqy x¶Qkj [kk¡

Ans. (d)

43. fnxEcj o 'osrkEcj nks eq[; laiznk; fdl /keZ

ds gSa\

(a) ckS)okn

(b) czkã.k /keZ

(c) tSuokn

(d) fgUnq /keZ

Ans. (c)

44. 1927 dh czqlsYl dkaxzsl esa Hkkjrh; jk"Vªh; dkaxzsl

dk izfrfuf/kRo fdlus fd;k\

(a) xka/khth (b) ts-,y-usg:

(c) lqHkk"k pUnz cksl (d) vkpk;Z d̀iykuh

Ans. (b)

45. 1936 esa vf[ky Hkkjrh; fdlku lHkk dh LFkkiuk

fdlus dh\

(a) dqekjkuan (b) lgtkuan ljLorh

(c) ,l-,- Mkaxs (d) egsUnz flag fVdSr

Ans. (b)

46. 'ksj'kkg dh eqnzk] ^^nke**] fdl /kkrq dh cuh Fkh\

(a) pk¡nh (b) lksuk

(c) rk¡ck (d) buesa ls dksbZ ugha

Ans. (c)

47. 1913 esa ykyk gjn;ky us ^^xnj ikVhZ** dh LFkkiuk

dh Fkh

(a) U;w;kWdZ esa (b) VksD;ks esa

(c) lSuÝkaflLdks esa (d) dkcqy esa

Ans. (c)
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48. Who became the first Minister of Education in

the Indian Government?

(a) Zakir Hussain

(b) Maulana Azad

(c) Rafi Ahmed Kidwai

(d) G.B. Pant

49. Rani Gaidinliu launched a tribal movement to

out the British from

(a) Gujarat (b) Himachal Pradesh

(c) Manipur (d) M.P.

50. Who ran the Home Rule movement in India?

(a) Annie Basant and B.G. Tilak

(b) Nehru and Gandhiji

(c) Hasrat Mohani and Ranade

(d) Madan Mohan Malviya and Motilal Nehru

51. Name of author of the Anandmath

(a) Rabindranath Tagore

(b) Bankim Chandra

(c) Aurobindo Ghosh

(d) Raja Ram Mohan Roy

52. The first electric train ran in India on which

route?

(a) Bombay to Madras

(b) Surat to Bombay

(c) Bombay VT and Kurla Harbour

(d) Madras to Bangalore

48. Hkkjr ljdkj esa izFke f'k{kk ea=h dkSu cus\

(a) tkfdj gqlSu

(b) ekSykuk vktkn

(c) jQh vgen fdnobZ

(d) th-ch- iar

Ans. (b)

49. jkuh xSfnuY;q us vaxzstksa dks Hkkjr ls fudkyus gsrq

vkfnoklh vkUnksyu dgk¡ pyk;k Fkk\

(a) xqtjkr (b) fgekpy izns'k

(c) ef.kiqj (d) ,e-ih-

Ans. (c)

50. Hkkjr esa gkse:y vkUnksyu fdlus pyk;k\

(a) ,suh cslsaV o ch-th- fryd

(b) usg: o xk¡/khth

(c) gljr eksgkuh o jkukMs

(d) enueksgu ekyoh; o eksrhyky usg:

Ans. (a)

51. vkuaneB ds ys[kd gS %

(a) jfoUnzukFk VSxksj

(b) cafdepUnz

(c) vkWjksfoUnks ?kks"k

(d) jktk jke eksgu jk;

Ans. (b)

52. Hkkjr esa igyh fctyh jsyxkM+h fdl jkLrs ij pyh\

(a) cEcbZ ls enzkl

(b) lwjr ls cEcbZ

(c) cEcbZ oh Vh ls dqykZ gkjcj

(d) enzkl ls cSaxyksj

Ans. (c)
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53. Which Indian sports person has won Gold in

14th Asian Shooting Championship recently?

(a) Gagan Narang (b) Manu Bhaskar

(c) Jitu Rai (d) Heena Sidhu

54. Who has been appointed as the first Lieutenant

Governor of the Union Territory of Ladakh?

(a) R.K. Mathur

(b) Kalraj Mishra

(c) Bhagat Singh Koshiyari

(d) None of these

55. Geetanjali is a collected work of famous poet

(a) Mirza Ghalib (b) Panini

(c) Banbhatt (d) Rabindranath Tagore

56. What is the name of recently launched NASA

satellite to study Ionosphere?

(a) ICON (b) ICON-I

(c) IONO-I (d) IONO

57. Indian Army's recent Mountain Combat exercise

"Him Vijay" held in which state?

(a) Himachal Pradesh

(b) Uttarakhand

(c) Arunachal Pradesh

(d) Sikkim

53. fdl Hkkjrh; f[kykM+h us gky gh esa 14oha ,f'k;u

'kwfVax pSfEi;uf'ki esa Lo.kZ ind thrk gS\

(a) xxu ukjax (b) euq HkkLdj

(c) thrw jk; (d) ghuk fl)w

Ans. (b)

54. dsUnz&'kkflr izns'k yn~nk[k dk izFke mi&jkT;iky

fdls fu;qDr fd;k x;k gS\

(a) vkj-ds- ekFkqj

(b) dyjkt feJ

(c) Hkxr flag dksf'k;kjh

(d) buesa ls dksbZ ugha

Ans. (a)

55. xhrkatyh fdl iz[;kr dfo dh laxzfgr jpuk gS\

(a) fetkZ x+kfyc (b) ikf.kfu

(c) ck.kHkê (d) jfoUnzukFk VSxksj

Ans. (d)

56. gky gh esa vk;uksLQh;j ds v/;;u ds fy, uklk

}kjk Hksts x;s lSVsykbV dk D;k uke gS\

(a) vkbdkWu (b) vkbdkWu&

(c) vk;uks& (d) vk;uks

Ans. (c)

57. gky gh esa Hkkjrh; lsuk }kjk ioZrh; ;q)kH;kl ^fge

fot;* fdl jkT; esa fd;k x;k\

(a) fgekpy izns'k

(b) mÙkjk[kaM

(c) v:.kkpy izns'k

(d) flfDde

Ans. (c)
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58. Recently launched PRAKASH Portal of Central

Government have been developed by which

organisation?

(a) NTPC

(b) Power Grid Corporation

(c) NHPC

(d) Coal India

59. Which Indian sports person was honoured with

the lifetime achievement award in Indian Sports

Award 2019?

(a) Sachin Tendulkar (b) Milkha Singh

(c) Saurav Ganguly (d) Jaspal Rana

60. Who has won the Nobel in the field of Literature

for 2018 recently?

(a) Peter Handke (b) Olga Tokarczuk

(c) James Pebbles (d) Michel Mayor

61. Who have been appointed as the Chief Justice

of Jharkhand High Court recently?

(a) Justice Ajay Kumar

(b) Amreshwar Pratap Sahi

(c) Dr. Ravi Ranjan

(d) None of these

62. Which Indian State has recently launched

Children's Safety App?

(a) Uttar Pradesh (b) Jharkhand

(c) Assam (d) Sikkim

63. When the International Day of the Girl child

was celebrated recently?

(a) On 5th October (b) On 9th October

(c) On 14th October (d) On 11th October

58. gky gh esa dsanz ljdkj }kjk ykWp fd;k x;k izdk'k

iksVZy fdl laLFkk }kjk fodflr fd;k x;k gS\

(a) ,uVhihlh

(b) ikojfxzM dkWiksZjs'ku

(c) ,u,pihlh

(d) dksy bafM;k

Ans. (a)

59. fdl Hkkjrh; f[kykM+h dks bafM;u LiksVZ~l vokMZ

2019 esa ykbQVkbe vphoesaV vokMZ ls lEekfur

fd;k x;k\

(a) lfpu rsanqydj (b) feY[kk flag

(c) lkSjHk xk¡xqyh (d) tliky jk.kk

Ans. (b)

60. gky gh esa lkfgR; ds {ks= esa o"kZ 2018 ds fy,

ukscy iqjLdkj fdls fn;k x;k gS\

(a) ihVj gSaMds (b) vksYxk rksdktqZd

(c) tsEl isCcy (d) ekbdy es;j

Ans. (b)

61. gky gh esa fdls >kj[kaM jkT; ds mPp U;k;ky;

dk eq[; U;k;k/kh'k fu;qDr fd;k x;k gS\

(a) tfLVl vt; dqekj

(b) vejs'oj izrki lkgh

(c) MkW- jfo jatu

(d) buesa ls dksbZ ugha

Ans. (c)

62. gky gh esa fdl Hkkjrh; jkT; us f'k'kq lqj{kk ,si

dks yk¡p fd;k gS\

(a) mÙkj izns'k (b) >kj[kaM

(c) vle (d) flfDde

Ans. (c)

63. gky gh esa varjkZ"Vªh; ckfydk fnol fdl fnu

euk;k x;k\

(a) 5 vDVwcj (b) 9 vDVwcj

(c) 14 vDVwcj (d) 11 vDVwcj

Ans. (d)
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64. The proposed sea route 'Setu Samundram' is a

canal through which of the following lanes?

(a) Malacca Strait (b) Gulf of Mannar

(c) Gulf of Kutch (d) Ten degree channel

65. Which of the following is not a grate Siberian

river of Russia?

(a) Lena (b) Amur

(c) Ob (d) Yenisi

66. In which of the following State of India Deoni

breed of cattle is found?

(a) Haryana (b) Rajasthan

(c) Maharashtra (d) Punjab

67. In which year Project Tiger was launched?

(a) 1972 (b) 1984

(c) 1986 (d) 1973

68. Tungabhadra multi-purpose project is a joint

venture of which of the following pair of States?

(a) Tamil Nadu and Karnataka

(b) Karnataka and Kerala

(c) Kerala and Tamil Nadu

(d) Karnataka and Andhra Pradesh

69. The Andaman and Nicobar Islands are

submerged parts of mountain range called

(a) Tian Shan (b) Arakan Yoma

(c) Pegu Yoma (d) Aksai Chin

70. In which of the State ONGC discovered the

first gas reserve of India in 2011?

(a) Assam (b) West Bengal

(c) Gurjarat (d) Maharashtra

64. izLrkfor leqnzh ekxZ ^lsrq leqUnje* fuEufyf[kr

ekxksZa esa ls fdl ugj ls gS\

(a) eykDdk LVªSV (b) eUukj dh [kkM+h

(c) dPN dh [kkM+h (d) nl fMxzh pSuy

Ans. (b)

65. fuEu esa ls dkSu :l ds lkbcsfj;k dh cM+h ufn;ksa

ls ugha gS\

(a) ysuk (b) vewj

(c) vksc (d) ;suhlh

Ans. (a)

66. buesa ls] Hkkjr ds fdl jkT; esa fn;ksuh uLy ds

eos'kh ik, tkrs gSa\

(a) gfj;k.kk (b) jktLFkku

(c) egkjk"Vª (d) iatkc

Ans. (c)

67. ck?k cpkvks ifj;kstuk dk vkjEHk fdl o"kZ fd;k

x;k\

(a) 1972 (b) 1984

(c) 1986 (d) 1973

Ans. (a)

68. rqaxHknzk cgqmís';h; ifj;kstuk] fuEufyf[kr jkT;ksa esa

ls fdl la;qDr jkT; dk la;qDr m|e gS\

(a) rfeyukMq vkSj dukZVd

(b) dukZVd vkSj dsjy

(c) dsjy vkSj rfeyukMq

(d) dukZVd vkSj vkU/kzizns'k

Ans. (a)
69. vaMeku vkSj fudksckj }hilewg] bl ioZr Ükà[kyk ds

Mwcs gq, fgLls gS %

(a) fV,u 'kku (b) vjkdku ;ksxk

(c) isxw ;ksxk (d) vDlbZ fpu

Ans. (a)

70. 2011 esa] ONGC us Hkkjr ds fdl jkT; esa xSl

fjtoZ dh [kkst dh\

(a) vle (b) if'peh caxky

(c) xqtjkr (d) egkjk"Vª

Ans. (a)
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71. The older Alluvium of Indian plan is know as:

(a) Khadar (b) Kankar

(c) Bhabar (d) Bhangar

72. Which of the following river of Indian is West

flowing?

(a) Cauvery (b) Tungabhdra

(c) Narmada (d) Damodar

73. At which among the following places, River

Brahmaputra takes as U-turn at the time of

entering into India?

(a) Namcha Barwa (b) Noijin Kangrang

(c) Kula Kangri (d) Bomdi La

74. The lacustrine deposits if Kashmir called

'Karewas' are famous for?

(a) Saffron cultivation

(b) Terrace farming

(c) Apple orchards

(d) Jhum cultivation

75. On which of the following rivers, 'Grand Canyon'

is located?

(a) Columbia river (b) Mississippi river

(c) Nile river (d) Colorado river

76. According to 2011 Census of India which district

of India has the highest literacy rate?

(a) Ernakulam (b) South Delhi

(c) Kozhikode (d) Serchhip

77. The term ' Syzygy' refer to

(a) Moon, Earth and Sun lie along a straight line

(b) Earth is at perihelion and Moon at perigee

(c) Earth at perihelion and Moon at apogee

(d) Moon and Sun are at right angles with

respect of Earth.

71. Hkkjrh; eSnkuksa dh iqjkuh tyks<+ feêh tkuh tkrh gSA

(a) [kknj (b) dUdj

(c) Hkkcj (d) HkkUxj

Ans. (d)

72. fuEufyf[kr esa ls Hkkjr dh dkSu lh unh if'pe

dh rjg cgrh gS\

(a) dkosjh (b) rqaxHkæk

(c) ueZnk (d) nkeksnj

Ans. (c)

73. fuEufyf[kr LFkkukas esa ls fdl ij] czáiq= unh Hkkjr

esa izos'k ds le; ;w VuZ ysrh gS\

(a) uepk cjok (b) uksbZftu daxjax

(c) dqyk dkaxjh (d) cksEM+h yk

Ans. (a)

74. ysdqLVjhu fM+ikftV d'ehj dk ftls ^djsok* dgk

tkrk gS] oks e'kgwj gS

(a) dslj [ksrh ds fy,

(b) lh<+huqek [ksrh ds fy,

(c) lsc ckxku ds fy,

(d) >we [ksrh ds fy,

Ans. (d)

75. xzkaM dsu;u fdl unh ij gS\

(a) dksyfEc;k unh (b) felhflih unh

(c) uhy unh (d) dksyksjkMks unh

Ans. (d)

76. 2001 dh tux.kuk ds vuqlkj Hkkjr ds fdl ftys

esa lcls vf/kd lk{kjrk nj gS\

(a) ,ukZdqye (b) nf{k.k fnYyh

(c) dksf>dksM (d) lsjfpi

Ans. (a)

77. 'kCn ^flthth* dk vFkZ gSA

(a) pUæek] iF̀oh vkSj lw;Z ,d lh/kh js[kk esa gksaA

(b) /kjrh isfjfgfy;u ij vkSj pUæek isjhth ijA

(c) /kjrh isfjfgfy;u ij vkSj pUæek ,iksth ijA

(d) pUæek vkSj lw;Z ìFoh ds lkis{k esa lgh dks.k

ijA

Ans. (a)
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78. Due to its surface colur, which planet is called

as 'Red planet?

(a) Venus (b) Mars

(c) Jupiter (d) Saturn

79. Where the tropical cyclones are know as

'Hurricane'?

(a) Bay of Bengal (b) Philippines

(c) West Indies (d) Australia

80. Which among the following is the northern most

State of U.S.A?

(a) New York (b) Hawaii Island

(c) Alaska (d) Washington

81. Which of the following mountain is the highest?

(a) Godwin Austin

(b) Nandadevi

(c) Mount Mackinlay

(d) Mount Albert

82. What happens when one crosses 180º longitude

from East to West?

(a) Gain of a day

(b) Loss of a day

(c) No gain or loss of day but time changes

(d) No changes in time or day

83. Which of the following sea is largest in terms of

Geographical area?

(a) Caribbean sea (b) South China sea

(c) East China sea (d) Baltic sea

78. lrg ds jax ds dkj.k] fdl xzg dks ^yky xzg* Hkh

dgk tkrk gS\

(a) 'kqØ xzg (b) eaxy xzg

(c) c̀gLifr xzg (d) 'kfu xzg

Ans. (b)

79. m".kdfVcU/kh; pØokr dks ^gfjdsr* ds uke ls dgk¡

tkuk tkrk gS\

(a) caxky dh [kkM+h (b) fQyhihal

(c) osLVbaMht (d) vkWLVsªfy;k

Ans. (c)

80. fuEufyf[kr esa ls la;qä jkT; vesjhdk dk lcls

mÙkj dk jkT; dkSu lk gS\

(a) U;w;kdZ (b) gokbZ }hi

(c) ,ykLdk (d) ckf'kaxVu

Ans. (c)

81. fuEufyf[kr esa ls dkSu lk ioZr lcls Å¡pk gS\

(a) xkWMfou vkWfLVu

(b) uanknsoh

(c) ekmUV eSfduyS

(d) ekmUV ,YcVZ

Ans. (a)

82. tc dksbZ 180º ns'kkUrj dks iwoZ ls if'pe dh vksj

ij djrk gS] rks D;k gksrk gS\

(a) ,d fnu dk ykHk

(b) ,d fnu dk uqdlku

(c) fnu dk dksbZ ykHk ;k uqdlku ugha] ijUrq le;

cnyrk gSA

(d) le; vkSj fnu esa dksbZ cnyko ugha

Ans. (b)

83. fuEufyf[kr esa ls dkSu lk leqæ HkkSxksfyd {ks= ds

fglkc ls lcls cM+k gS\

(a) dSjsfc;u lkxj (b) nf{k.kh phu lkxj

(c) iwohZ phu lkxj (d) ckfYVd lkx

Ans. (a)
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84. What is 'Selva'?

(a) Crop of equatorial area

(b) Animals of equatorial area

(c) Equatorial rainforest

(d) Type of farming in equatorial area

85. Which of the following country was  as 'Nippon'

in ancient time?

(a) France (b) Belgium

(c) Norway (d) Japan

86. In which State of India, Maikal range is located?

(a) Bihar (b) Chhattisgarh

(c) Rajasthan (d) Odisha

87. 'Taklamakan' Desert is located is which of the

following country?

(a) Mexico (b) Saudia Arabia

(c) Uzbekistan (d) China

88. Who is the first Indian cricketer to take a 'Hat

Trick' in T-20 International Cricket Match?

(a) Mohammed Shami

(b) Irfan Pathan

(c) Deepak Chahar

(d) Chetan Sharma

89. The first solar powered aircraft to circumnavigate

the earth is

(a) Solar impulse-1 (b) Solar impulse-2

(c) Solar impulse-3 (d) Solar impulse-4

84. ^lsYok* D;k gS\

(a) Hkwe/;js[kh; {ks= dh Qly

(b) Hkwe/;js[kh; {ks= ds tkuoj

(c) Hkwe/;js[kh; o"kkZou

(d) Hkwe/;js[kh; {ks= dh Qly ds izdkj

Ans. (c)

85. fuEufyf[kr esa ls dkSu lk ns'k izkphu dky esa

^fuIiku* ds uke ls tkuk tkrk Fkk\

(a) Ýkal (b) csfYt;e

(c) ukWosZ (d) tkiku

Ans. (d)

86. Hkkjr ds fdl jkT; esa eSdky Ükà[kyk fLFkr gS\

(a) fcgkj (b) NÙkhlx<+

(c) jktLFkku (d) vksfM'kk

Ans. (b)

87. ^Vdykedku* jsfxLFkku fuEufyf[kr esa ls fdl ns'k

esa fLFkr gS\

(a) esfDldks (b) lÅnh vjc

(c) mTcsfdLrku (d) phu

Ans. (c)

88. fdlh Hkkjrh; fØdsV f[kykM+h us lcls igys T-20

vUrjkZ"Vªh; fØdsV eSp esa gSfVªd fy;k gS\

(a) eksgEen 'keh

(b) bjQku iBku

(c) nhid pkgj

(d) psru 'kekZ

Ans. (c)

89. izFke lkSj ÅtkZ pkfyr ok;q;ku ftlus iF̀oh dk

iw.kZ pDdj yxk;k gSA

(a) lksyj bEiYl 1 (b) lksyj bEiYl 2

(c) lksyj bEiYl 3 (d) lksyj bEiYl 4

Ans. (a)
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90. Watson and Crick are famous for the discovery

of,

(a) Structure of DNA

(b) Antibiotics

(c) Vaccine for cancer

(d) Photo-synthesis

91. The colour of start depend upon which factor?

(a) Distance

(b) Temperature

(c) Atmospheric pressure

(d) None of these

92. Which of the following region receives rainfall

throughout the year?

(a) Atlas Region

(b) Western Australia

(c) North China

(d) Zaire Valley

93. Which one of the following options most closely

represents mechanism of sexual reproduction in

phylum Ciliophora?

(a) Mating (b) Binary Fission

(c) Conjugation (d) Budding

94. Which one of the following options represents a

common application of potassium graphite and

calcium graphite?

(a) Moderators (b) Semiconductors

(c) Superconductors (d) Lubricants

90. ^okVlu vkSj Øhd* fdl [kkst ds fy, izfl)

gSa\

(a) Mh-,u-,- dh lajpuk

(b) ,asVhck;ksfVd

(c) dSlj dk Vhdk

(d) izdk'k&la'ys"k.k

Ans. (a)

91. rkjksa dk jax fdl dkjd ij fuHkZj djrk gS\

(a) nwjh

(b) rkieku

(c) ok;qeaMyh; nkc

(d) buesa ls dksbZ ughas

Ans. (b)

92. fuEufyf[kr esa ls dkSu ls {ks= esa iwjs o"kZ o"kkZ gksrh

gSA

(a) ,Vyl {ks=

(b) if'peh vkWLVªfy;k

(c) mÙkjh phu

(d) dkaxks ?kkVh

Ans. (d)

93. fuEufyf[kr esa ls Qkbye flfy;ksQksjk esa lsDlqvy

jhizksMd'ku eq[; :i ls dkSu n'kkZrk gS\

(a) eSVhax (b) ckbujh fQ'ku

(c) dkatqxs'ku (d) cafMax

Ans. (*)

94. iksVSf'k;e xzsQkbV ,oa dSfY'k;e xzsQkbV dk lkekU;

mi;ksx fuEufyf[kr esa ls dkSu n'kkZrk gSA

(a) eksMsjsVj (b) lsehdUMDVj

(c) lqij&dUMDVj (d) Y;qfcdsaV

Ans. (c)
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95. Which one of the following elemental pollution

of water bodies causes Minamata disease?

(a) Mercury (b) Cadmium

(c) Iron (d) Arsenic

96. Which of the following is found in Iodised salt?

(a) Sodium Iodide

(b) Potassium Iodide

(c) Calcium Iodide

(d) Barium Iodide

97. Software which is most likely to be used to

create, edit and print any document?

(a) Word processor (b) PDF

(c) Java (d) Linux

98. Identify the correct option that explain law of

inertia.

(a)  Newton's first law

(b)  Newton's second law

(c)  Newton's third law

(d) All of these

99. If a moving car increase its speed from 30 km/

hr to 60 km/hr, what will be the impact of its

kinetic energy?

(a) will become 2 times

(b) will become 4 time

(c) will become 6 times

(d) No change

100. Which one of the following is considered as a

rarest blood group?

(a) 'O' negative (b) 'O' positive

(c)  'AB' negative (d) 'AB' postive

95. fuEufyf[kr esa ls dkSu lk iznw"k.k rRo tks tyk'kk;ksa

esa ik;k tkrk gS] feukekrk chekjh dk eq[;

dkj.k gS\

(a) ejdjh (b) dSMfe;e

(c) vkjbu (d) vklsZfud

Ans. (a)
96. fuEufyf[kr esa ls D;k vk;ksMkbTM ued esa ik;k

tkrk gSA

(a) lksfM;e vk;ksMkbM

(b) iksVSf'k;e vk;ksMkbM

(c) dSfYl;e vk;ksMkbM

(d) csfj;e vk;ksMkbM

Ans. (b)
97. buesa ls dkSu lk lk¶Vos;j lcls vf/kd mi;ksxh

gS] fdlh MksD;wesUV dks cukus] ,fMV djus ,oa fizV

djus ds fy,\

(a) oMZ izkslslj (b) ih Mh ,Q

(c) tkok (d) fyuDl

Ans. (a)
98. fuEufyf[kr esa ls dkSu tM+rk ds fu;e dks lgh

crkrk gSA

(a) U;wVe dk izFke fu;e

(b) U;wVu dk f}rh; fu;e

(c) U;wVu dk rr̀h; fu;e

(d) ;s lHkh

Ans. (a)
99. ;fn ,d dkj dh j¶rkj 30 km/hr ls 60 km/hr c<+

tkrh gS] rks bldh xfrt ÅtkZ ij D;k izHkko

iMs+xk\

(a) nks xquk c<+ tk,xhA

(b) pkj xquk c<+ tk,xhA

(c) N% xquk c<+ tk,xhA

(d) dksbZ ifjorZu ugha gksxkA

Ans. (b)
100. fuEufyf[kr eas ls dkSu lk jä xzqi lcls de ik;k

tkrk gS\

(a) 'O' fuxsfVo (b) 'O' iksftVho

(c) 'AB' fuxsfVo (d) 'AB' iksftfVo

Ans. (d)



Non-Tech Detailed Solutions ENGINEERS ACADEMY

+91 809 444 1 777info@engineersacademy.org www.engineersacademy.org 27


